
.'

(

This question paper contoins 7 printed pagcsl

Roll No.

Vlvlttr E
r S. No. of Question Paper : 7962

Unique Paper Code .. 62i7 ttot -- ltc

Name of the Paper llasic Statistics and Probability

Name of the Course B.A. (Prog.) Statistics

Semcster

Duration : 3 Hours Maximum Marks : 75

^ 
(lynte ;or lloll l'o. on the lop t,,t,t,ediateb on rcccipt ol this q eslrcn pap.r.)

Question No. t is compulsory.

Attempt ,ex questions in all.

Simple calculator can be used.

l. (a) Fill in the blanks :

(0 ln a symnetric distribution, the upper and lower
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quartiles are equi-distant from
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(rr) If the kurtosis of a distribution is 3, it is cAlled

distribution.

(ii,i) Median =.........................: Quanile.

(,v) Limits of conelation coemcient are ........

(v) lf A and B are independent events, then

(t

(b) Prove that, if A, B, C are murually independent events

then A u B and C are also independent. 5

(c) Out of the two lines of regression given by

X + ?y = 8 and 2X + 3Y = 8. Which one is the line

of regression of X on Y ? Also find X, V, r, o?,

wtren 6| - tz. 5

(a) A cyclist pedals from his house to his.collegg at a

speed of 20 km.p.h. and back from the college to his (

house at 25 km.p.h. Find the average speed. 6

(6) Show that for discrete distributiolr p2 > l. 6

'1. \a\ Sllte rncl provc llu\cs' 'l-hcorcnt.

(6) The probability ofX. Y and Z bccorning,nuno*.rli or. 
,1.

and respectively. The probability that the Bonus

Scherne will be introduced if X. Y and Z bccirurc

it
managers are t0. ,

!
5

and respectively.

(l) What is the probability that Bonus Scheme will bc

introduced ?

(r/) If the Bonus Scheme has been introduced. what

is Ihe probability that the manager appointed

wasX?

t

2

9

I

,

(

1

;

{

(

(

7

I

72 lU)

6



(6) 7X;2 (3) 7962

Regression equation of X on Y : 20X'- 9Y - 65 = 0

The standard deviation of the prices of x = 3.

You are required to calculate

O Average prices of X and Y.

(rr) Standard deviation of the prices of Y.

(iii) Coefficient of correlalion betrveen the prices of

X and Y.

6. (,1) State and prove multiplication theorem of probability. 6

(b) A piece of equipment will function only when the three

components A, B and C are working. The probability of

A t'ailing during one year is 0.05, that of B failing is 0. l5 (

and that ofC failing is 0.10. What is the probability that

3. (,r) Show that. il nr. n, are the sizes. [. I the means.

and o,, o, the standard deviations of two series. then

lhe standard deviation o ol'the combined series of sizc

{.
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(

rvhere

,/, =(.\-i) ,,=(r-i) ano i= l?t .rt + r?, -r1

\*n2

is the nrean of the combined series. 6

(h) For a distribution. tlre mean is 10. vatiance is 25,

Tt is rl and p2 is 4. Obtain the first four moments about

the origin, i.e. zero. Comment upon the nature of the

6

equipment will fail before the end of the year ? 6

t, distriburion.
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5. (4) Oblain. tlie equation ol' l\r'o lines of regression lirr

thc lbllowing data. Also obtain the estinrate of X

forY=70. 6

XY

(b)

m@

T7l

In a stalistical. stud) rclating to the prices of two

cornnrodilics X and Y. the lbllowing tuo re,..:rcssion

lines rrere lbund. rvltcr-e thc prices rvere expressed in

ruPecs:

Regression eqration of Y on X : 8X - loY + 70 = 0

4. (o) Prove that Spearman's rank correlation coefficient is

given by

t-
'(" - r)

where 4 denoles the difference between the ranks of

the lth individual.

(6). From thc data rclating to thc yield of dry bark (X1),

. height (X2) and girth (X3) for 18 cinchonh plants, the

following corielation coellicicnts were obtained :

ri2 = 0.7'7, r11 = 0.12 and rr, = 0.52

Find the partial correlation coefficient r,, -, and multiple
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conelation coefficient R,.rr. 6
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